Dammam Community College
MATH 011  

Past Exam Questions
Section 1.2
1. Three students decided to share the cost of a car. By bringing in an additional student, they can reduce the cost of each student by 400 Riyals.  What is the total cost of the car?
Answer: 4800
2. The length (L) of a rectangle is 2 units less than twice the width (W). If the perimeter of the rectangle is 110 units,  find the value of  L – W   
Answer:  
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3. If one-half of a number minus one-fourth of the number is four more than one-fifth of the number. Find the number
           Answer:  80
4. The length of rectangle is 9 feet less than twice its width. The perimeter of the rectangle is 54 feet. Find the width and the length of the rectangle.

Answer:  12, 15
5. The length of a rectangle is 20 feet more than twice its width. If the perimeter of the rectangle is 220 feet, then the length is equal to?


Answer:  80
6. If  two consecutive odd positive integers have a product of 143, then their sum is equal to?

Answer:  24
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